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Note : Section ‘A’ containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’

has to be solved first.

gug ‘a7’
Section ‘A’
frelfera sifaerg SWIT 9941 & S T o1 & al
g3l
Answer the following very short answer type
questions in one or two sentences. 1x10=10

1. fadig &/ &1 IRYIvT HIfsg

Define finance function.

P.T. O.

10.
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foard g &7 &2

What is financial plan ?

CCE i

What is capital budgeting ?

3 g% ary 7 &2

What is pay-back period ?

I I GRYTT FIHTC

Define dividend.

9 &1 T T &7

What is cost of capital ?

grE & F ST 77

What do you mean by Receivables ?
Frefeer it F R BT
Define working capital.

THG HIT FT &7

What is cash fund ?

e TG S &7
What is cumulative preference share ?
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gug ‘q’
Section ‘B’
freTfera &g ST g9 # I 150-200 I155 T
43
Answer the following short answer type questions

with word limit 150-200. 5x5=25

~ N

. SR fadid g9 &I GHSET |

Explain the internal financial management.

37erer

Or

TeGHTAT fadid (a7 & GHEET

Explain short term financial planning.

IS AoreT F SevT F &7

What are the objects of capital budgeting ?

HIdar
Or

oy (YR 89 11T W g iy &l GHeET

Discuss return on Investment method for assertaining

the profitability.

[ 3] P.T. O.
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3. SIfHT 379 Sl F1 GIIT I GHART

Explain cost of preference share capital.

37qar
Or

fordter et o &2

What is financial leverage ?
4. HAHTIET 39T H GHAET |

Describe the Bonus shares.

37erdar
Or

9t geaar (@) F@ 8
What is capital structure ?

5. FrEa Tt & faveyor @ o9 1 THEd &7
What do you mean by Working Capital Analysis ?

37erar
Or

=] TEIfT T =T SIfe 87

What is current assets and current liabilities ?
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gus ‘g’
Section ‘C’
fregifend &16 STRIT g9 & ST 300-350 915 ST
7431
Answer the following long answer type questions
with word limit 300-350. 8x5=40

. TF 3Efe qrer & o fadig IS5 dar Fa
THY 379 o= aral 1 &7 7 @9 2 faa=mr F1sa )

What considerations would you keep in minal while
drafting a financial plan for an industrial concern ?

Discuss.

HIar
Or

STfYHaH Y T GHfd & o § Sifdad glg &1

fag=mr #ifSa

Discuss profit maximisation and maximization of

wealth.

. A9 FEH AR 39T GEIGT A &
qF T T ERieT E @8 5 5T F forg
SUYFT G I 8, ITHT AR feraq 8—

[ 5] P.T. O.
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feraroT T

X ¥ Y T
oS T 6,00,000 | 6,00,000
fasa 10,00,000 | 8,00,000
3eqIqT AT
qragt 80,000 | 1,00,000
TSR 1,00,000 60,000
FHREM IIRFT 1,20,000 | 1,00,000
geIETeh 3R 40,000 20,000
fasa =9 20,000 20,000

9T X T el e e 5 a5 S F9iTY 7
4 T &1 7P qoF HAT: X 7T X 60,000 T Y
797 T 40,000 &/

T & RO ST FieT B (g 39 o7 & & Bl
g & S gui W &1 g "9 W g aret
=9l ®1 & T § ST T &1 FF 9 &1 3T
T 50% FT o &1 Yot W ST 10% Ffaas &1 &1
T o &

T S Gy & YR W VIET foh -G q9i7
alfys aryerEaE: g 2
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Betul Company Limited is considering the purchase
of a new machine for its expansion programme. There
are two possible machines suitable for the purpose.

The details are as under :

Particulars Machine

X X Y X
Capital cost 6,00,000 | 6,00,000
Sales 10,00,000 | 8,00,000

Cost of Production

Materials 80,000 1,00,000
Wages 1,00,000 60,000
Factory Overheads 1,20,000 1,00,000
Administrative overheads 40,000 20,000
Sales Expenses 20,000 20,000

The economic life of machine X is 5 years and machine
Y is 4 years. The scrap value are X machine is 60,000
and Y machine ¥ 40,000 respectively. Sales are
expected to be at the same rates shown each year

during the full economic life of the machines. The

(7] P.T. O.
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costs relate to annual expenditure resulting from each

machine.

Tax to be paid is expected at 50% of the net earning

each year.

Interest on capital has to be paid at 10% per annum.
Show which machine would be most profitable

investments on payback period ?

37ar

Or
fAf4IT T g @ 3779 I GHE 87 39% -]
FaBY |

What do you understand by Return on investment ?

Describe its merits and demerits.

Fora1y forfaee &t Yot Geaar feaq 8—

TEar Yl [ TEIfEd AT 12%) % 10,00,000
10% Yalfear 791 % 5,00,000
8% 0 % 15,00,000

STTHT 50% HX P! ¥ 70 §T FX F Jd SR &
& @ Y5 &1 YRIfeha SGd AFTd &1 AT HIAT
]
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Kuldeep Limited has the following capital structure :

Equity capital (Expected dividend 12%) < 10,00,000
10% Preference shares < 5,00,000
8% Loan < 15,00,000

You are required to calculate the weighted average
cost of capital before tax and after tax, assuming tax
rate of 50%.

3{qar

Or

Arast (SHlcid) @ T 9 &7 AT & gERI
F1 T FIT |

What do you mean by leverage ? Explain the types of

leverage.
. TF HEA H Yol G 59 TFER &—
10,000 & 3797 g T 100 Ffa 3797 T 10,00,000

999 U9 fReE T 2,00,000
7%, 5,000 T=a aaR 379 &

T 100 FfT 3797 T 5,00,000
7%, 5,000 I&d HBUGT T

T 100 gid B9y % 5,00,000

T 22,00,000
[ 9] P.T.O.
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ST 9 FX F2H P qd HEH1 B 3 T 2,20,000

&1 A FT B T 50% &1 FEA F ST faeent

T TFgds 4 gfad &1 39 GET quar s &1

STSR god % 140 Fia 3797 &1 1 &1 3797 fa&ir

g 87 T 5,00,000 FT STETIHA &

9% [T @17 faweq ST &—

(i) T 100 Frer 4,000 F&r 3797 &1 T 125 Fha 3797
FI TS5 :2 P STFUIT T [aeET SRl i
T5TH #F SHR W [FHA |

(i) 9% Tl Galfa®R 3797 1 G5 qod T 57|

(iii) 8% GII&rd HUTAI &1 GH Hod T 71

ga-¢h] &7 favarq § o IR & wora®y Ha)

F1 S G P GH B T TgH T 3,00,000 &
ST | FEHT F AT FIT-9T fGHeT Garaq &2

The capital structure of a company is :

10,000 equity shares of ¥ 100 each ¥ 10,00,000

Reserve and surplus < 2,00,000
7%, 5,000 cumulative preference shares

< 100 each < 5,00,000
7%, 5,000 secured debentures

< 100 each < 5,00,000

< 22,00,000
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Company’s earning before interest and tax are
< 2,20,000. Corparate tax rate is 50%. The shares of
Company are listed in Delhi Stock Exchange and at
present the market price of one equity share is
% 140. Company needs X 5,00,000 for its expansion

programme. For this three alternatives are available :

(1) Right issue of 4,000 equity shares of I 100 each
at I 125 per share to existing shareholders in the
ratio of 5 : 2.

(i1) Issue of 9% cumulative preference shares at par.
(111) Issue of 8% secured debentures at par.

The management is confident that as a result of
expansion earnings before interest and to tax will
increase upto < 3,00,000.

Which alternative is the best for Company ?

HIqr
Or

STYIIT Ffd 1 &7 37 FRFI HT IR FHIIT, it
T FEHT FT 9T Aifad & [FHRT Fa &2

What is dividend policy ? Explain the various factors

determining the dividend policy of a Company ?

[ 11 ] P.T. O.
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5. FEVcT YSil 1 STFHA d GHI fohT FHRebI

& TG =8T 2
What factors should be considered while estimating
working capital ?

77T

Or
Ul & a4 @ 39 FIT GHAT &7 Il 7 a4
% (SHR) R FHI FYIfad &7 it FRHI &1 JUH

FHITT |

What do you understand by management of

receivables ? Discuss the factors affecting the size of

investment in receivables.

000004 00000
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